Math 1090 ~ Business Algebra

Section 2.1 Basic Operations with Ma

Objectives:
Identify elements of a matrix.
Differentiate between a scalar and a
Identify a square matrix.

Identify the size of a matrix.
Determine the transpose of a
Write a zero matrix.

Identify Row or Colu
Perform matrix addi
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a) What size (order) isA? S % Ll

b) What is a,,? as?
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c) Write a zero matrix the same size as A. Z:

R L
d) Find A" < 3 \_2
So;

J ) g

e)Find-A - P_\ _3 _S _q

-A--1-A > 9 ¢

© O
o O
0o O




1
1
-2

1
4
1

Ex 3: Given A=

Sx\

O N W
S v O

a) Find 2A + B

272 81

=2 ¢ 2 0]t
$ 4 2 1™ |90y~
2o 4ol [l Y12

=14 8 F |
Y L 3
-1y ~S 2

CT: | 2 -1 4
I 2 0 S
| 2 3 o
A-3¢CT=(1 2 1 o
4 2 | ¥
-l 020
(2 -2 4
=Y
K‘H -6 -l

B:
3wy

— o N
HON

P

1

W

1
-3 C-=
2] 4x3

BN

-1
4

(=

h © N~
S W=

Matrix Addition
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